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1 Which of the following Article talks about the right to conserve distinct b
language, Script or Culture
a)Art. 24 | b) Art. 350 | ¢) Art. 240 | d) Art. 13 Art. 350
2 Arunachal Pradesh comes under which of the following Schedule?

a
a)Fifth b) Seventh | ¢) Eight | d)None of the Fifth
Schedule Schedule Schedule above Schedule

3 Who won the Noble Prize in Chemistry for discovery of polonium and
radium?

d
a)Albert b)C. V Raman | c¢) John Nash d) Madam Madam
Einstein Marie Curie Marie Curie

4 Hormones are produced by which gland? a
a) Endocrine | b) Pancreas C) Pituitary | d) Endocrine
Gland Gland Hypothalamus Gland
5 Rusting is a reaction which is called? b
a)lonization b)Oxidation c¢) Reduction d)None of the oy
Oxidation
above
6 What is the full form of NIA?
Answer
option
(a,b,c or d)
a) National | b) Northern | ¢) North Indian | d) National
Investigating Investigation Agency Internal a
Agency Agency Agency
7 Who is the Consecutive Champion of Formula One in 2021, 2022 and
20237
a) Max | b) Lewis | ¢) Nico | d)  Sebastian
Verstappen Hamilton Rosberg Vettel a
8 Which country is the only country to land on south pole of the Moon? d
a) USA b) UK c) EU d) India d
9 Ayurvedic Science is
a) Pseudo | b) Medical | c) Hindu | d) Para Medical
Science Science Indigenous Science
Knowledge d
system of
health and
medicine
10 | International Democrats Union is an organization of
a) Labor | b) An | ¢) an | d) a democratic
Organization affiliation  of | organization socialist b
the right wing | under UNO organization

political parties
of the world




11 | Fill in the proper form of verbs given in the brackets:
They were made ......... (write) an essay on the economic condition of c
the country.
a) to be write b) be written c) to write d) to have to write
written
12 | Change the active voice into passive voice of the sentence:
Who taught you this poem? ¢
a) This poem | b) Is the poem | ¢) By whom d) No By whom
was taught to | taught by were you correction. were you
you by whom? | whom? taught this taught this
poem? poem?
13 | Change the sentence into indirect speech:
My mother said to me, “You were wrong.” ¢
a) [ was wrong, | b) My mother | ¢c) My mother | d) [ am wrong, | My mother
my mother told me that [ told me that I my mother told | told me that I
told. am wrong. was wrong. me. was wrong.
14 | Point out the one word substitution of the word Gourmand c
a) a person who | b) a person who | c¢) a lover of d) a good chef a lover of
loves art loves traveling | good food good food
15 | Match the Antonyms of the following KEYWORDS:
A Delicious 1 continue a
B Cease i1 tender
C Blame i1 distasteful
D Adamant v applaud
a) A-iii; B-1; | b) A-ii; B-iii; | ¢) A-ii; B-iii; C- | d) A-ii; B-iv; C- )
Cuivi D-ii | Ceiv; D-i i; D-iv i; D-iii A-i B-L €-
1v; D-11
16 | What will be the missing letters in the series BKK, DMM, FOO, |, b)
JSS?
a) HTT | b) HQQ | c) HPP | d) HRR HQQ
17 | 20% of 350 is C)
a) 30 | b) 65 | ¢) 70 | d) 75 70
18 | Mohan walks 2 km towards the south and then turns to right. After
walking 1 km he turns to the left and walk 2 km. What direction is he | b)
facing right now?
a) North b) South c) East d) West South
19 | Which of the following are true?
a)

A. Fraction are used to represent the part of the whole thing.
B. Prime numbers are divisible by one 1 and the number itself.
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C. All Prime numbers are Natural number.
D. Fraction can be written as percent.

a)A, B, C and | b)A,Band C ¢)B,Cand D d)A,BandD | A, B, Cand
D D
20 | A: Assertion — Displacement of body may be zero, when distance
travelled by it is not zero.
c)
B: Justification — The displacement is the longer distance between
initial and final positions.
a) BothAand B | b)BothAand B | ¢) A is true but | d) A is false but
are true and B is | are true but B is | B is false B is true .
the correct | not the correct A " true but
. . B is false
explanation of | explanation of
A A
21 | Which type of sample selected permit generalizations to the population b
for study?
a) Stratified | b) Random | ¢) Quota | d) None Random
Sampling Sampling Sampling Sampling
22 | Quota Sampling comes under which type of Sampling?

b
a)Probability b)Non- c)Random d)Non-Random Non-
Sampling Probability Sampling Sampling Probability

Sampling Sampling

23 | A type of sampling in which research participants are asked to assist c

researchers in identifying other potential subjects is called as

a) Quota | b) Convenience | ¢)  Snowball | d) Systematic | Snowball

Sampling Sampling Sampling Sampling Sampling
24

An Ethnography which document women’s lives and activities which

were previously largely seen as marginal and subsidiary to the men is

known as? ¢

a)Auto- b)Ethnology c)Feminist d)Ethnography Feminist

ethnology Ethnography Ethnography
25 | Which of the following statement(s) is/ are false?

A Review of literature in research proposal is a mere summary of

related literature for research

B. There are two types of data in research: primary data and

secondary data b

C. There are three types of data in research: primary data,

secondary data and tertiary data

D. Collection of qualitative data require longer period of stay in

the field for research

a)B b)A&C c)B&C d) None of the A&C

above

26 b

A: Assertion: Autoethnography is a qualitative method
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B: Justification: This method uses a researcher’s personal experience
to describe and critiques cultural beliefs, practices and experience

a)Only A is|b) A & Bis|c) A & B is|d)Only B is A& Bis
correct true. B is the | false false true. B is the
correct correct
justification for justification
A. for A.
27 | The person who has wide range of knowledge about particular society
and play a crucial role in providing information to the researcher is d
called as
a) Tour guide b) Field guide | c) Field | d) Key Key
Supervisor informant informant
28 | Research approaches can be broadly divided into how many b
categories?
a) 2 | b)3 | )4 | d)5 3
29 | Case study belong to which approach? C
Zzive Quantit b) Mixed ¢) Qualitative | d) None Qualitative
30 | Which of the following is/are true?
A Positivism relates to Determination
B. Pragmatism relates to consequences of action a
C. Pragmatism relates to reductionism
D. Transformative relates to theory generation
a)A& B b)) B&C [c)C&D | )A&D A&B
31 | Match the following.
A Interview 1. outsider view
B Observation ii. non-participant a
C Etic iii. unstructured schedule
D Emic 1v insider view
a) A-iii; B-ii; C- | b) A-ii; B-iii; | ¢) A-iii; B-1i; C- | d) A-iii; B-iv; | A-iii; B-ii;
i; D-iv C-i; D-iv iv; D-i C-i; D-ii C-i; D-iv
32 | Ethnographic research primarily done by: d
a) Geography | b) Botany ¢) Economist | d) Anthropologi
Anthropologist st
33 | Why sampling is done for designing a research? a
a) to obtain |[b) to collect|c) to test|d) to test null to obtain
representative | maximum data | hypothesis hypothesis representativ
data base e database
34 | Measuring Central tendency relates to: d
a) ' Mean, | b) Rate, Ratio | ¢) Freguency, d) Meap, Mode Mean, Mode
dispersion & | & class | correlation and | & Median .
. . & Median
mode intervals median
35 | Observation method is commonly used in d
a) Sociology b) History cA)nthrOpOIOgy d) All three Al three
36 | Which of the following is/ are true? c




A Theory is the valid generalization of facts.
B Ethical issues are not important in social science research.
C Theory is an assumption of facts.
D Questionnaires can be used without direct involvement of a

researcher.
a) A&C |b)B&C |c)A&D |d)D&B A&D
37 | A: Assertion: Ethic is one of the significant aspects of research b
B: Justification: Plagiarism is one of the scientific misconducts.
a)BothAand B | b)BothAandB | ¢) A is correct | d)A is false but | Both A and B
are correct and | are correct but | but B is false B is true are correct
B is the exact | B is not the but B is not
explanation of | exact the exact
A explanation of explanation
A of A
38 | Matching pairs:
A. Holism i. Prediction of facts
B. Grounded theory ii. Research gap b
C. Literature review iii.  Integrated knowledge
system
D. Hypothesis iv. Social Processes
a) A-iii; B-iv; | b) A-iii; B-iv; | ¢) A-iv; B-iii; | d) A-i; B-iv; C- | A-iii; B-iv;
C-1; D-ii C-ii; D-i C-ii; D-i ii; D-iii C-ii; D-i
39 | What does UGC- CARE means? b
a) Curriculum | b) Consortium | ¢) Care of d) Care for Consortium
for Advance for Academic Action Academic for Academic
Research and Research and Research and Research and Research and
Ethics Ethics Ethics Ethics Ethics
40 | Which of the following practices is an effective way to avoid
plagiarism in research? ¢
a) ' Directly | b) Paraphrgsin c) ‘ d) Citing only Appropriatel
copying and | gtext heavily | Appropriately | direct "
pasting text | from an citing the quotations but y citing the
from an online | original source | source of all not ideas that source o Fall
article without | without giving | quotations, have been _Quotations,
citations. credit. ideas, or data paraphrased. ideas, or data
taken from taken from
others.
others.
41 | A Research Scholar while submitting his/her thesis did not
acknowledge in the preface the help and support of the respondents of C
questionnaire used. This will be called as instance of:
a)  Technical | b) Willful | ¢) Unethical d) Lack of| Unethical
Lapse negligence Act Respect Act
42 | Among the following which is the oldest journal of Anthropology in b
India?
a) Eastern | b) Man in India | ¢) Current d) Indian Man in India
Anthropologist Anthropologist | Anthropologist
43 | APA Style stands for--- a
a)  American | b)  American | ¢) Association |d) American | American
Psychological | Psychological | of Psychology Psychologica
Association Associates Association 1 Association




Psychological

of Americans
44 | The degree of peakedness or flatness of a unimodal distribution is 2)
called
a) Kurtosis b) Skewness ¢) Symmetry d) Dispersion Kurtosis
45 | Match the following
A. Mean 1. most frequent
B. Median ii. measure of variability d)
C. Mode iii. average
D. Range iv. middle point
a)A-iii;  B-iv; | b) A-iii; B-i; C- | ¢) A-ii; B-iv; C- | d) A-iii; B-iv; | A-iii; B-iv;
C-ii; D-i iv; D-ii iii; D-i C-i; D-ii C-i; D-ii
46 | Which of the following is/ are false statement(s):
A. standard deviation is always calculated from mean
B. mode can have more than one value in a single sample b)
C. standard deviation is not a descriptive statistic
D. t-test is descriptive statistic
%)A, B, C and [ b)Aand B c)Cand D d) Band D Cand D
47 | The numerical value of a standard deviation can never be C)
a)l b) zero c) negative d) larger than | negative
the variance
48 | Which of the following statement(s) is/are true for mean?
A. Mean measures the variability in a dataset
B. Mean is the most commonly used central tendency b)
C. In a perfectly symmetrical dataset mean will be at the center
D. Mean is affected by extreme outliers.
aD)A, B,Cand [b)B,CandD |c)A,BandD |d)CandD B, C and D
49 | A: Assertion — Regression analysis is descriptive statistic.
B: Justification — Regression analysis estimate the relation between d)
dependent and independent variable.
a) BothAand B | b) BothAand B | ¢) A is true but | d) A is false but
are true and B is | are true but B is | B is false B is true .
A'is false but
the correct | not the correct .
. . B is true
explanation of | explanation of
A A
50 | The median of following observations 8,9,7,10,8,9,10,8,7,9 is b)
a) 8.0 b) 8.5 ¢) 9.0 d) 9.5 8.5
51 | E.B Tylor belongs to which evolutionary school? c
a) Neo- | b) German | ¢) Classical | d) Classical Classical
Evolutionary Evolutionary Evolutionary Evolutionary Evolutionary
52 | Universal Evolutionary school represented by a
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a) V G Gordon 1. Frazer c¢) R. Brown d) H. Spencer V G Gordon
Childe ) Childe
53 | Which of the following represent British School of Diffusion?
A. W. H. R. Rivers
B. W.J. Perry a
C. A.L.Kroeber
D. F. Ratzel
a)A& B [b)B&C [o)C&A |d)D&B A&B
54 | The book ‘Argonauts of Western Pacific’ (1922) gave rise to which d
theory?
a) b) Diffusionism | ¢) d) Functionalis
Structuralism Evolutionism | Functionalism m
55 | Which of the following statement(s) is/ are true?
A. Concept of Great & Little Tradition: Robert Redfield
B. Concept of Culture of Poverty: Amartya Sen a
C. Concept of Sanskritization : M N Srinivas
D. Concept of Dominant Caste: S C Dubey
a)A&C b)) B&C [c)A&B |d)D&B A&C
56 | Match the pair.
A. Sacred Complex i. B. Malinowski
B. Coming of Age in Samoa ii. R. Brown a
C. Theory of Need 1i1. M. Mead
D. Theory of Social Structure | iv. L P Vidyarthi
a) A-iv; B-iii; | b) A-iii; B-iv; | ¢) A-iv; B-ii; C- | d) A-ii; B-iv; C- | A-iv; B-iii;
C-i; D-ii C-i; D-ii iii; D-ii i; D-ii C-i; D-ii
57 | Malinowski’s theory of need talked about: c
a) Political | b) Divisive | ¢) integrative | d) Customary integrative
need need need need
need
58
Concept of Sacred & Profane developed by: C
a) L. P. | b) R. Brown ¢) E. Durkheim | d) Mary .
Vidyarthi Douglas E. Durkheim
59 | Interpretive Anthropology is also known as: b
a) New- | b)  Symbolic | ¢) cognitive | d) Colonial | Symbolic
ethnography anthropology anthropology anthropology anthropology
60 | Which of the following statements is/ are true?
A. Egoistic Suicide found in Mechanical solidarity-based society
B. Anomic suicide found in Mechanical solidarity-based society a
C. Egoistic suicide found in organicsolidarity-based society
D. Anomic suicide predominantly found in tribal society
a) A only b) A and B \ ¢) Cand D \ d) D and A A only




61 | A: Assertion: Function is defined by both Radcliffe Brown and
Malinowski
B: Justification: Both R. Brown and Malinowski are subscribing to the a
basic notion of Functionalism
a) both Aand B | b)bothAand B | ¢) both A and | d) both A and | both A and B
are correct and | are correct and | correct but B is | not correct but | are correct
B is the correct | B is not the | not correct B is correct and B is the
justification of | correct correct
A justification of justification
A of A
62 | Theory of Deconstruction was given by: a
a) J. Derrida b) Victor | c)HomiBhaba | d) Max Weber J. Derrida
Turner
63 | Match the following C
A. G. E. Marcus 1 German Diffusionist
B. Fredrick Ratzel i1 Bridge & Buffer
C. B K Roy Barman iii British Anthropologist
D. Mary Douglas iv American Anthropologist
a) A-ii; B-iv; C- | b) A-iv; B-ii; C- | ¢) A-iv; B-i; C- | d) A-iii; B-iv; | A-iv; B-i; C-
iii; D-1 i; D-iii ii; D-iii C-ii; D-i ii; D-iii
64 | Culture and Truth : The Remaking of Social Analysis is written by d
a) Leela Dube | b) Marilyn | c¢) J. Butler d) Renato Renato
Strathern Rosaldo Rosaldo
65 | The concept of ‘Seed and Earth’ is given by c
a) Vandana | b) AK Danda | c¢) Leela Dube | d) S C Dube Leela Dube
Shiva
66 | Writing Culture : The Poetics and Politics of Ethnography is edited by: a
a) J.Clifford & | b) Talal Asad c) P. Rabinow | d) M J Fischer | J.Clifford &
G E Marcus G E Marcus
67 | Which of the following belongs to British diffusionist school? c
A. Franz Boas
B. A L Kroeber
C. Clark Wissler
D. WHR Rivers
a) A&D |b)B&C | ¢) D only | d) A only D only
68 | A: Assertion: a
I. Classical evolutionary school talks about gradual cultural
change.
ii. ii. Neo-evolutionary school explains cultural change with new
attributes.
B: Justification:
Classical and neo-evolutionary schools are dealing with Evolution of
Culture.
a) both A and B | b) bothAand B | ¢c) both A and | d) both A and | both A and B
are correct and | are correct and | correct but B is | not correct but | are correct
B is the correct | B is not the | not correct B is correct and B is the
justification of | correct correct

A




justification of justification
A of A
69 | Cultural Area theory was given by: d
a) British | b) German | c¢) Asian School | d)  American | American
school school School School
70 | Which of the following is/ are the basic element(s) of Social C
Structure?
A. Normative System
B. Economic adaptation
C. Action System
D. Caste system
a) A&B |b)A&D [c)C&A | d)D&A C&A
71 | The book Writing Culture,: The Poetics and Politics of Ethnography a
is written by
a) J. Clifford | b) J. Clifford | ¢) Franz Boas | d) Karl Marx J. Clifford
and G. E.|andE.B. Tylor and G. E.
Marcus Marcus
72 | Psychic Unity concept was used by : a
a) Classical | b) neo- | c¢) diffusionist | d) functionalist Classical
evolutionist evolutionist evolutionist
73 | Match the following C
A. Structuralism i. F. Boas
B. Post-structuralism ii. R. D’ Andrade
C. Historical Particularism iii. Levi Strauss
D. Cognitive Anthropology iv. Derrida
a) A-ii; B-iv; C- | b) A-iii; B-i; C- | ¢) A-iii; B-iv; | d) A-iii; B-ii; | A-iii; B-iv;
i; D-iii iv; D-ii C-i; D-ii C-iv; D-i C-i; D-ii
74 | What are Eoliths? a
a) Tools before | b) Tools after | ¢) Tools in|d) Tools of
Paleolithic Paleolithic between Paleolithic Tools before
Paleolithic and Paleolithic
Mesolithic
75 | Match the following
A Cave Altamira 1 Spain
B Bhimbetka i1 India a
C St Acheul iii France
D Burzahom v India
a) Ai b) Aii C) Aiii d) Aiv Ai
B ii B iii Biv Bi B ii
Ciii Civ Ci Cii Ciii
D iv Di D ii D iii Div
76 | Find out the False statement(s):
A Microliths were part of Paleolithic Period
B Microliths were part of Mesolithic Period a
C Bone tools emerged during Paleolithic Period
D Bow and arrow appeared during Paleolithic Period
a) A |b)B BYe | d)D A
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| | |
A: Assertion: Prehistory is not required as History studies the past also.
a
B: Justification: Studying the past requires writing source.
a)Both A and B | b)A is true but | ¢c)Both A and B | d)Both are | Both Aand B
are correct but | B is false are true but B is | wrong are correct
B is the proper not the proper but B is the
justification of justification of proper
A A justification
of A
Handaxe was absent in C
a) Central | b) Scandinavia | ¢) Eastern | d) Western Eastern
Europe Europe Europe Europe
Find out the True statement(s):
A Microliths were absent in South East Asia d
B Microliths were discovered in South East Asia
C Microliths belonged to Paleolithic Period
D Agriculture started during Mesolithic period
a) B [b)C B [ d)A A
A: Assertion: Megalith is commemorative
a
B: Justification: All megaliths may not be commemorative
a) BothAand B | b) A is true but | c) BothAand B | d) Both are | Both A and B
are correct but | B is false are true but B is | wrong are correct
B is the proper not the proper but B is the
justification of justification of proper
A A justification
of A
Chellean culture is an integral part of a
a) Abbevillian | b) Magdalenian | ¢) Asturian | d)  Solutrean | Abbevillian
and Acheulian | culture Culture culture and
Acheulian
82 | The representative tool of Abbevillian and Acheulian culture is d
a) Burin b) Borer ¢) Scraper d)Handaxe Handaxe
83 | Match the following
A DaojaliHading 1 TC Sharma
B Lothal i1 BB Lal a
C Ambari excavation 111 TC Sharma
D Ukhrul iv OK Singh
a) Ai | b) Aii c) Aiii d) Aiv Ai
Bii B iii Biv Bi B ii
Ciii Civ Ci Cii Ciii
Div Di Dii D iii Div
Find out the True statement:
A Abbevillian is now an obsolete term
B Oldowan is now an obsolete term a
C Acheulian is now an obsolete term
D Mousterian is now an obsolete term
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a)A b) B c)C d)D A
85 | A: Assertion: Museum study is not relevant in anthropology as
Archeology works as independent subject in many countries.
B: Justification: There may be a study on Museum study as an a
independent branch.
a) BothAand B | b) A is true but | ¢) BothAand B | d) Both are | Both A and B
are correct but | B is false are true but B is | wrong are correct
B is the proper not the proper but B is the
justification of justification of proper
A A justification
of A
86 | Late wurm, occurred during b
a) Lower | b) Upper | ¢) Middle | d) Post Upper
Pleistocene Pleistocene Pleistocene Pleistocene Pleistocene
87 | Holocene belongs to which climatological period? d
a) post glacial | b) late wurm \ ¢) interglacial \ d) post glacial post glacial
88 | Match the following
A Handaxe 1 Paleolithic
B Microliths ii Mesolithic a
C Grinding and Polishing iii Neolithic
D Neolithic Celt iv Neolithic
a) Ai b) Aii C) Aiii d) Aiv Ai
B ii B iii Biv Bi B ii
Ciii Civ Ci Cii Ciii
Div Di D ii D iii Div
89 | Which of the following statements is true?
A Nartiang is a megalithic site
B Nartiang is a Paleolithic site a
C Nartiang is a Mesolithic site
D Nartiang is a neolithic site
a)A b) B c)C d)D A
90 | A: Assertion: Prehistory is obsolete today
a
B: Justification: In software era, digging the past is irrelevant
a) BothAand B | b) A is true but | c) BothAand B | d) Both are | Both Aand B
are correct but | B is false are true but B is | wrong are correct
B is the proper not the proper but B is the
justification of justification of proper
A A justification
of A
91 | A: Assertion: Prehistory is a part of Cultural Anthropology
B: Justification: To study culture, we need to know the evolution of a
society and culture through Prehistory
a) BothAand B | b) A is true but | c) BothAand B | d) Both are | Both A and B
are correct but | B is false are true but B is | wrong are correct
B is the proper not the proper but B is the
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justification of justification of proper
A A justification
of A
92 | Tombstones are found in which North Eastern state? C
a) Meghalaya | b) Manipur c) Arunachal | d) Nagaland Arunachal
Pradesh Pradesh
93 | Who is Venus in Paleolithic Art? C
a) The Goddess | b) Planet C) Female | d) Sorcerer Female
Venus Statue Statue
94 | Find out the true statement a
A Daojali Hading was excavated by TC Sharma
B Daojali Hading was excavated by HC Sharma
C Daojali Hading was excavated by Sukanya Sharma
D Daojali Hading was excavated by MC Goswami
a)A b) B c)C d)D A
95 | A:Assertion: Prehistory is not reliable as there may be loss of artefacts a
B: Justification: For loss of artefacts in natural disasters, there are
several interdisciplinary approaches in Prehistory
a) BothAand B | b) A is true but | c) BothAand B | d) Both are | Both A and B
are correct but | B is false are true but B is | wrong are correct
B is the proper not the proper but B is the
justification of justification of proper
A A justification
of A
96 | Baton de commandment is a a
a) Bone tool | b) stone tool \ ¢) harpoon \ d) borer Bone tool
97 | Father of Indian Ethnology: a
a) Gopal Sarna | b) S. C. Roy ¢)S. C. Dubey | d) L. P.
Vidyarthi 5. C.Roy
98 | The name of the ethnography of Malinowski is C
a) Argonauts of | a) The c) Argonauts of | d)  Trobriand | Argonauts of
the West | Argonauts of the Western | Islanders the Western
Pacific Western Pacific | Pacific Pacific
99 | Who devised and popularized the genealogical method in q
anthropology?
a) Rivers ‘ b) Redfield ‘ c¢) Malinowski ‘ d) Boas Rivers
100 | When a researcher uses different methods of data collection when b
studying the same social issue. Such a combination of methods is
called as;
a) Multi | b) c) Convenient | d) All of these | Triangulation
Method Triangulation Method
101 | A statistical measure of relationships between variables describing the c
presence, direction and degree of association between them is called:
a) Co-variance | b) Cross | ¢) Correlation | d) Variability Correlation
validation
102 | Who authored the book People of India™? a
a) Risley ‘ b) Guha ‘ c) Sarkar ‘ d) Das Risley
103 | What is the full form of PRA? b
a) Participants | b) Participatory | ¢) Participation | d) Participatory | Participatory
Routine Rural Appraisal | in Rural | Rural Actions Rural
Appraisal Activities Appraisal
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104

Which of the following primates is considered to be the ancestral form

of the gibbons? a
a) Parapithecus | b c d) None of .
: ’ P)ropliopithecus A)eolopiothecus tlzese Parapithecus
105 | Who described Ramapithecus in 1934 as a hominid? c
a) Simon | b) Leaky | c) Lewis \ d) Drozhansky Lewis
106 | What is the cranial capacity of Homo Sapiens? c
a) 1100 cc to | c) 1200 cc to c) 1300 cc to|d) 1200 cc to| 1300 ccto
1400 cc 1400 cc 1400 cc 1500 cc 1400 cc
107 | Neo-Darwinism is also known as: c
a)  Evolution | b) C) Synthetic | d) none of these Synthetic
theory Catastrophism | theory of theory of
evolution evolution
108 | Match the following pairs:
a. Homo heidelbergenis 1. Woodward
b. Homo erectus ii. L.S. B. Leakey ¢
c. Homo rhodesiensis iii. Schoetensack
d. Homo habilis iv. Dubois
a) a:ii, b:i, c: iv, | b) a:1, b:ii, c: iv, | ¢) a:iii, b:iv, c¢: | d) a:1, b:ii, c: 1v, | a:iii, b:iv, c:
d: iii d: iii i, d:ii d: iii i, d: il
109 | Identify the chronological order of the following fossils: C
a. Homo erectus
b. Australopithecus
c. Neanderthal Man
d. Gigantopithecus
a)c,b,d,a |b)a,b,c, d [c)c,a,b,d | d)a,d, c, b c,ab,d
110 | Who among the following one of the earliest tool maker? d
a) b) c) d) Homo Homo
Australopithec | Australopithec | Australopithec | Habilis Habilis
us Africanus us Prometheus | us Afarensis
111 | Who wrote the book “Ancient Law™? b
a Robert | b) Henry Maine | ¢ Raymond | d) Herskovits .
Bedficld Heny i Henry Maine
112 | In which community Couvade Usage is found? a
a)Khasi ‘ b) Naga c)Karbi ‘ d)Apatani Khasi
113 | In which type of kinship system, single kinship term is used for
particular individual? ¢
a)Classificator | b)Amitate c)Descriptive d)Tertiary Descriptive
y kinship kinship system | Kinship system kinship
system system
114 | A: Assertion: Amitate is another kinship usage
B: Justification: Amitate prevails in patrilineal societies wherein d
father’s sister has prominence in right and authority
a) Only B is |b) None of the |c) Only A|d) Both A& B| BothA& B
correct above is correct | correct is correct. B is | is correct. B
the correct | is the correct
justification for | justification
A for A
115 | Kula exchange system is found among which of the community? c
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a)  Trobriand | b)  Trobriand | ¢)  Trobriand | d)  Trobriand

Islanders of | Islanders of | Islanders of | Islanders of I;l;g(:lk:irel?sng £
South east | South east | South east | South east
. . . South east
Kenya Africa Melanesia Kalahari .
Melanesia
Dessert
116 | Who wrote the book “Munda and their Country”? C
a) T. C Das b)Surojit Sinha | ¢) S C Roy d) . D. N S C Roy
Majumdar
117 | Who is the profounder of Substantivist approach? b
a)Julian b)George c)Paul d) None of the George
Steward Dalton Bohannan above Dalton
118 | Who among the following scholars asserted that children acquire an
unconscious desire for the parents of opposite sex, and that incest c
taboo serve as a device to repress such desire and save the family?
a)Sherry b)Radcliffe ¢)Sigmund d)Marshal Sigmund
Orthner Brown Freud Shalin Freud
119 | Is the following assertion and justification, correct?
A: Assertion: Verrier Elwin was termed as “isolationist” with receiving
severe criticism during his initial journey as Anthropologist in India C
B: Justification: Verrier Elwin proposed the idea of establishing
“National Park” for the tribes in India
a) B is false b) A is false c) A & B is|d) None of the A& Bis
correct. B is the | above is correct | correct. B is
correct the correct
justification for justification
A for A
120 | What is the meaning of ‘Potlach ‘according to Nootka Indian? c
a)Strata | b) Feast | o) Gift | d) Ceremony Gift
121 | In which phase of growth of Indian Anthropology, study of Indian
Villages gained prominence? ¢
a) Constructive | b)  Formative | ¢)  Analytical | Evaluative Analytical
Phase Phase Phase Phase Phase
122 | Who brought the concept of Nature-Man-Spirit Complex? d
a)L. K. | b)J. H Hutton | ¢)B. M Das d)L. P L P
ﬁ;nanthaknshn Vidyarthi Vidyarthi
123 | Who brought the concept of Folk-Urban Continuum? a
a)Robert b)M. N ¢)T. C Das d)Radcliffe Robert
Redfield Srinivas Brown Redfield
124 | A: Assertion: Sixth Schedule constitutes one of the important parts of
Indian Constitution
B: Justification: Sixth Schedule makes special provision for tribal b
areas of Assam by setting up Autonomous Districts and Autonomous
regions
a) Bis correct | b) Both A& B |c) BothA & B|d) A and B is| BothA& B
correct. B is the | are false correct. Bisnot | correct. B is
correct a correct | the correct
justification for justification for | justification
A A for A
125 | Who started the first peasant movement in India? c
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a) B. R |b) Mahatma | ¢) Swami | d) Lal Lajpat Swami
Ambedkar Gandhi Sahajanand Rai Sahajanand
Saraswati Saraswati
126 | Who is the founder of Anthropological Survey of India? b
a) G. H Ghurye | b) B. S Guha ¢) S. C Dube d) . D. N B. S Guha
Majumdar
127 | Who is the founder of Journal “Man in India”? C
a)Leela Dube b).W. H R | ¢)S.CRoy d)T. C Das S. C Roy
Rivers
128 | In which year the first Anthropological Journal “Man in India” was d
founded?
a)1827 | b)1925 | ©)1987 | d)1921 1921
129 | A: Assertion: Raymond Firth and H. Schneider is called as principal
proponents of Formalist approach
B: Justification: Raymond Firth and Schneider asserted that the neo- C
classical model of economics could be applied to any society if
appropriate modifications are made, arguing that its principles have
universal validity
a) Only B is |b) Only A is|c) Both A & B | d) None of the | BothA & B
correct correct are correct. B is | above is correct | are correct. B
the correct is the correct
justification for justification
A for A
130 | Who introduced the concept of Universalization and Parochialization
to study Indian Civilization? a
a)Mckim b)Scarlett c) Weiser d) Milton Mckim
Marriot Epstein Singer Marriot
131 | Alleles are — a)
a) genes | b) genes on |c) genes | d) genes unable
controlling same locus of | controlling one | to control the genes
same trait the trait that are | same trait controlling
chromosome able to same trait
recombine
132 | Match the following.
A. DNA structure 1. Karl Landsteiner
B. Mendelism ii. James Watson & Francis
Crick 2)
C. ABO blood group system i11. Kary Mullis
D. PCR iv. Hugo de Vries & Carl
Correns
a) A-ii; B-iv; C- | b) A-iii; B-i; C- | ¢) A-ii; B-iii; C- | d) A-i; B-iii; C- | A-ii; B-iv; C-
i; D-iii iv; D-ii i; D-iv iv; D-ii i; D-iii
133 | Which of the following pair is true?
A. Heath and Carter - Human Physique 2)

B. Guha and Sarkar - Racial classification
C. Hardy and Weinberg - Population Genetics
D. Godwin and Malthus - Demography
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a)A,BCandD | b)A,Band C c)Cand D d)Aand B A,BCand
D
134 | A: Assertion — SS Sarkar classify Indian population based on cephalic
index.
c)
B: Justification — SS Sarkar classify Indian population into Dravidian,
Indo-Aryan and Mongoloid as three principal racial types.
a) BothAand B | b) BothAand B | ¢) A is true but | d) A is false but
are true and B is | are true but B is | B is false B is true A'is true but
the correct | not the correct B is false
explanation of | explanation of
A A
135 | Identify the correct sequence of the following in term of their
appearance on earth. 2)
a)Aus. b) Aus. | ¢) Aus. | d) Aus. Aus.
anamensis  — | robustus — Aus. | afarensis — Aus. | africanus — | anamensis —
Aus. afarensis — | anamensis  — | africanus — | Aus. anamensis Aus.
Aus. africanus | Aus. afarensis — | Aus. robustus — | — Aus. afarensis | afarensis —
—Aus. robustus | Aus. africanus | Aus. anamensis | — Aus. robustus Aus.
africanus —
Aus.
robustus
136 | Which of the following best describes the Lyon’s hypothesis? b)
a)Barr bodies | b)One of the | ¢c)The maternal | d)The paternal | One of the
are inactivated | two female X | X chromosome | X chromosome | two female X
X chromosomes | of a female is | of a female is | chromosome
chromosomes | is randomly | inactivated in | inactivated 1n | s is randomly
inactivated in | an early | an early | inactivated in
early embryonic embryonic early
embryonic stage. stage. embryonic
stage stage
137 | Match the following.
A. Down Syndrome 1. 47, XXY
B. Edwards Syndrome i1. Trisomy 13 a)
C. Patau Syndrome iii. Trisomy 18
D. Klinefelter Syndrome iv. Trisomy 21
a) A-iv; B-iii; | b) A-iv; B-1; C- | ¢) A-iit; B-iv; | d) A-ii; B-iv; C- | A-iv; B-iii;
C-ii; D-i ii; D-iii C-i; D-ii i; D-iii C-ii; D-i
138 | Which of the following is not a type of personality given by
Kretschmer?
A. Athletic type d)
B. Asthenic type
C. Pyknik type
D. Aesthetic type
]a:l)) A, B, C and | b)B,Cand D c)Cand D d) D only D only
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139

A: Assertion — Grooming is a characteristic feature of the non-human

primates.
a)
B: Justification — Non-human primates groom one another for social
bonding as well as parasite removal.
a) BothAand B | b)BothAandB | ¢) A is true but | d) A is false but | Both A and B
are true and B is | are true but B is | B is false B is true are true and
the correct | not the correct B is the
explanation of | explanation of correct
A A explanation
of A
140 | Which type of fingerprint pattern is characterized by ridges that flow b)
in one side, make a U-turn, and exit from the same side?
a) Arch | b) Loop | ¢) Whorl \ d) Composite Loop
141 | Which of the following is correct sequence? b)
a) Phalanges — | b) Phalanges — | ¢) Femur - | d)Fibula — | Phalanges —
Femur — Tarsals | Tarsals — Fibula | Fibula — | Phalanges = — Tarsals —
— Fibula — Femur Phalanges =~ — | Femur — Tarsals Fibula —
Tarsals Femur
142 | Match the following.
A. Peking Man 1. South Africa
B. Java Man ii. India a)
C. Ramapithecus iii. China
D. Taung child iv. Indonesia
a) A-iii; B-iv; | b) A-i; B-iv; C- | ¢) A-ii; B-iii; C- | d) A-i; B-iii; C- | A-iii; B-iv;
C-ii; D-1 11; D-iii 1; D-iv iv; D-ii C-ii; D-1
143 | Which of the following is/are true for the population during a
bottleneck event?
A. The genetic diversity increases o)
B. The genetic diversity decreases
C. The genetic diversity remains unchanged
D. The genetic diversity becomes more complex
a) A and B |b)Cand D | ¢) only B | d) only C only B
144 | A: Assertion — Mendel’s law of independent assortment does not hold
good for the genes that are located closely on the same chromosome. 0
B: Justification — Closely located genes assort independently.
a) BothAand B | b) BothAand B | ¢) A is true but | d) A is false but
are true and B is | are true but B is | B is false B is true .
A'is true but
the correct | not the correct )
) . B is false
explanation of | explanation of
A A
145 | Which of the following is not a type of genetic marker? d)
a)Restriction b) Single | ¢) Short | d) DNA
Fragment Nucleotide Tandem Repeat | polymerase
. DNA
Length Polymorphism | (STR) I
Polymorphism | (SNP) polymerase
(RFLP)
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146

Hardy Weinberg equilibrium is affected by —

A. Genetic drift

B. Gene flow 2)
C. Natural selection
D. Mutation
a)A,B,Cand |[b)B,CandD |c)AandC d) Band D A, B, Cand
D D
147 | A: Assertion — The total genes and their alleles in a population are
called gene pool. 0
B: Justification — The gene pool remains a constant in a population.
a) BothAand B | b) BothAand B | ¢) A is true but | d) A is false but
are true and B is | are true but B is | B is false B is true .
A is true but
the correct | not the correct .
) . B is false
explanation of | explanation of
A A
148 | Primer in DNA replication is d)
a) Enzyme b) Helix c¢) Small d) Small
L o . . : Small
joining destabilizing deoxyribonucle | ribonucleotide . .
. . 3 ribonucleotid
nucleotides of | protein otide polymer | polymer :
new strands © polymet
149 | In which condition allele frequency in the population remains constant d)
from generation to generation?
a) Natural | b) Gene flow ¢) Genetic drift | d) Random Random
selection mating mating
150 | Electrophoresis method is used for d)
a) Blood | b) DNA | ¢) Protein | d) separation of | separation of
grouping replication synthesis charged charged
particles under particles
the influence of | under the
electric current | influence of
electric
current
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